Compound Inequalities

SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Solve and graph.
1) x<4orx<7 1)

6-5-4-3-2-10123456

2) 6x-4<2xor-2x<-6 2)

-7-6-5-4-3-2-101234567

3) -3x+1=7o0r6x+3=-21 3)

7-6-5-4-3-2-101234567

4) x<2orx=5 4)

7-6-5-4-3-2-101234567

5)x<lorx<6 5)

6-5-4-3-2-1012 3456

6) 12x - 8 <4x or -4x <-12 6)

7-6-5-4-3-2-101234567

7) -5x+1=11o0or3x+3=-9 7)

7-6-5-4-3-2-101234567

Solve.
8) 7x+8 <-6 or9x-1=-10 8)
9)3<2t-1o0r9=2t-1 9)
10) -5¢+3 =-220r-5c+3 >-7 10)
Solve and graph.
11) 2x-1=-13 and2x-1=<-5 11)

-7-6-5-4-3-2-101234567



12) 2x+6 =14 and4x-5 =15

-7-6-5-4-3-2-101234567

13) 7x-8 <-29 and -8 -9x>1

-7-6-5-4-3-2-101234567

14) 4x>4 and x+5<5

7-6-5-4-3-2-101234567

15) 5x-1<4and x-2>-1

7-6-5-4-3-2-101234567

Solve.
16) -4<x+6 <8

17) 15 <5x <30
18) 8 =<2t+4 <20
19) -13 =-3c+2 <-4

20)4s%x—1<19
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Compound Inequalities

Solve and Graph
21) X>5 or x<1

22) x24 or x<-2

23) 2x—1<7 or —x+6<1
24) —x+6<-18 or 3x<-9
25) x—6>-7 gnd “4x—-1>-5

26) 2x+8>0 agnd x—6>3

1
—x<5
27) 2 and —6x+2>14

See Video Soutions for these answers!
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